
Exercise 1
•Make a primary generator action using either of the 2 possibilities

• For the process “muon pair production in electron-positron collision” at 14 
GeV

• Inverse beta decay for neutrino beams of energy 5-10 MeV





 Exercise 2

•Generate Compton scattering by modifying the Geant4 code for incident 
photons of 0.5 MeV, 1.0 MeV and 1.5 MeV and compare the distribution 
with those obtained from exercise 2 of yesterday.

•Steps to be taken

•Make a process which activates only electron, gamma

•Add only Compton scattering and transportation as processes

•Physics list. Is to be modified to register only this class



Add a new particle XXX of mass 2000 GeV and charge +1 to the 
simulation process

Add ionisation and transportation for this new particle

Propagate this new particle in the example code

Steps to be taken

•Create a new class for the particle definition 

•Create a class to add the processes of the new particle

•Register this class in the physics list

•Modify the macro to generate 20 events for this particle and also for μ+ 
and compare the energy loss in silicon tracker between the two cases

Exercise 3









Exercise for the Future

•Create a new process and add to Geant4 library

•


